BC Calculus – FDW 3rd Edition – Section 6.1 Even Answers

Quick Review 6.1
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Section 6.1
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   26. c   28. d 
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42. 3.662   44. .6    46. -.271   48. 1.032   

50.(a) b  (b) Positive slope when x < 0, zero slope when x = 0, neg slope when x >0.

52. The slope of 
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 would be 1 at the origin. 

54. Euler’s Method gives an estimate for f(1.6) of 1.92. The solution to the differential equation (initial value problem) is: 
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 which yields the actual value of 1.96.

The percentage error is then: 
[image: image22.wmf]196192

196

1002%

-

×=


56. Since the slopes must be negative reciprocals, 
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58. The orthogonal (perpendicular) slope field would require: 
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 is the ‘general solution’.

60. False. Consider f(x) = x2 is a solution of dy/dx = 2x, but for 
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 is not a solution of dy/dx = 2y since 
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62. E   64. A   66.(a) 
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68.(a) y = 2x4 – 5x2 + 5x + 3  (b) 
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